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7. V' d@) : f(s(,x))
- f(x2 - 2x)
- 2(xz - 2x) 3
: 2 x 2 - 4 x - 3
le"fl('):ef(r))
: g(2x B)
: (2x U2 2ex - J)
: ( 4 x z I2x+9)-4x+6
. . ) : 4x- - ltir + 15
8. Domain of f(x): x * |
Domain of g(r): all reals
8(r) : I
r * 3 : 1
x - - 2
Domain of [/. S](r) is x * -2.
9. ,' : f(xo) -- f(12)
- 2 ( 2 ) + 7 o r 5
x"- f(x) - f(15)
- 2 ( 5 ) + 1 o r 1 1
x., -- f(x2) - /(11)
: 2 ( I l ) * 1or23
5 , 11, 23
r0a. [K" C](4 - K(C(F))
/ . , \
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10b. K( 40) : ;( 40 - 32) + 273.15
40 + 273.15 or 2311.15
K( 12) : ;( 12 - 32) + 27:t.r5
- -24.44 + 27:).15 or 248.71
l(0) : ito - B2) + 27,t.rb
17.78 + 273.15 or 255.'.17
K(32) - itr'
- :t2) + 27it.15
: O + 273.15 o r 273.75
I-r KQ|D :;Qr2 - 32) + 273.75
: 100 + 273.I5 or 373.15




